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"Dy + (D2 = D1) (n—1)a""*  (p? +4q =0)
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D, = (Oé + B)Dn—l - O46D1’L—2

At
D, —aD,_| = 5 (anl - aDn72)

= 62 (Dn—Z - aDn—?)) == ﬂniz (DZ - aDl) = 6n
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=a2"+a1z" P a2+t an_1z +an
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D, =xDyp_1+ay
Dy_1=2Dp_2+an_1
Dyp o=xDp 3+ an 2

D3—(ED2+Q3
Dy =xDq + as
Di=xz+a

fHEH

Dn :/M+ (079
D=7 = 22D775 + ap_1
22D575 = 22 D75 + ap—ox?
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D,=2"4+az" '+ Fap 1z +ay
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D2=x2—|—a1x—|—a2; D3=x3—|—a1x2+a2x+a3

A A8

Dy=2"+az" ' +ax" 2+ +ap_17+ay,
b e ol S A ST S S

WEAT: 2 n = 2 WESE L. IRIRESIERATHIBIRECH n — 1 IIRGT, 2 T ORIENIFT
SIKWFECH n W, SR WINGL. X Dy #5651 5RIF, 15

D, =xzD, 1 +a,
_ n—1 n—2 n—3
= m(w + a1x + asx +~--+an,2x+an,1) + an,
=2+ a12" 't ax” 2+ +an_1z + an

MR ZE XA IR AR n HS7, TS5 L .
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#l 217 1t D,, =

JEBH: 5T Dy = cos@, Dy =2cos?0 — 1 = cos 20, AT D,, = cosnb . K2

PR EAAE A -

Y =1 WEEHAL. BIREENTIMREUNTEE ST n — 1 INBGE, 3 FRIE

cos
1
0

0
0

1
2cosf
1

0

0
1
2cosf

0
0

0
0
0

2cosf
1

o

1
2cosf

HIFT N RECH n I, B RGE. XF Dy, R E 5 —1TRIT, 153

D, =2cos0D,,_1 — D,,_»




HAA RS
D,y =cos(n—1)0, D,_o=cos(n—2)0

TR
D,, = 2cosfcos(n — 1) — cos(n — 2)0

= (cos(8 + (n — 1)8) + cos(d — (n — 1)8)) — cos(n — 2)6
= cosnd
BIHIESSIE X7 R HCH n WHLRE, TS5 TR AT .

T BEARIED P . SR KA, 5 R S R IR . s
W REER B SR Dy KT Dy Fll D HYIEAEC R
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